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1) _____ identified 49 simple rules (''heuristics'') for generating hypothesis to
be tested scientifically.

A) Kerlinger B) Kothari

C) D’Amato D) McGuire

J¥{hVH$mÀ¶m emór¶ VnmgUrH$[aVm ..................... ¶m§Zr 49 gmÜ¶m {Z¶‘m§Mr {Z{‘©Vr Ho$br.

A) H${b©Ja ~) H$moR>mar

H$) S>r. A‘mQ>mo S>) ‘°H$Jwao
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2) Participants exposed to unsolvable problems become more pessimistic and
less willing to do new tasks (i. e. become helpless) than participants who are
asked to do solvable problems.

Which of the following goal of psychological research seen in the above
example?

A) discrimination B) prediction

C) explanation D) application

gmoS>dÊ¶mgma»¶m g‘ñ¶m§Mo g‘mYmZ H$amd¶mg gm§{JVboë¶m gh^mJr à¶w³Vm§À¶m VwbZoV Z gmoS>dVm
¶oUmè¶m g‘ñ¶m H$aUmè¶m gh^mJr à¶w³V ho A{YH$ {ZamemdmXr Am{U ZdrZ H¥$Vr H$aÊ¶mg A{YH$
{Zê$Ëgmhr AgVmV AWdm ñdV:bm Aghmæ¶ g‘OVmV.

darb CXmhaUm‘Ü¶o ‘mZgemór¶ g§emoYZmVrb H$moUVo Ü¶o¶ à{Vq~{~V hmoVo?

A) ^oXUrH$aU ~) ^{dî¶H$WZ

H$) ñnï>rH$aU S>) Cn¶moOZ

3) _______ variables are concepts used in theories to explain why independent
and dependent variable are related. ________

A) Intervening B) Active

C) Attribute D) Continuous

n[adV©H$ hr {gÕm§Vm‘Ü¶o dmnabr Aer g§H$ënZm Amho Or ñdV§Ì Am{U naV§Ì n[adË¶© ho EH$‘oH$m§er H$m
ghg§~§YrV Amho ho ñnï> H$aVo.

A) ‘Ü¶ñV ~) g{H«$¶

H$) JwU{deof S>) gVV (gbJ)
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4) A physical education instructor was interested in specifying the changes in
motor coordination that occur as girl students gain experience with large
playground equipment (e.g., slides swings climbing walls). For a span of 8
weeks pre-school children wear assigned to 4, 6,8 hours per week for time
allowed on the equipment. See then tested their motor coordination by asking
them to skip jump and stand on one foot.
In the above example girl students are example of _________ variable.
A) active B) attribute
C) continuous D) discrete
IoimÀ¶m ‘moR²>¶m gmYZm§X²dmao ‘wbr H$í¶mnÕVrZo AZŵ dm§Mr àmár H$aV AgVmZm Ë¶m§À¶m H$maH$ {H«$¶m§‘Ü¶o
g‘Ýd¶ gmYVmZm H$em nÕVrZo ~Xb g§̂ dVmV ho nmhÊ¶mg EH$ em[a[aH$ {ejU g§MmbH$ CËgwH$ Amho.
AmR> AmR>dS²>¶m§H$[aVm embo¶ nyd© AdñWo‘Yrb ‘wbm§H$[aVm AmR>dS²>¶mVyZ Mma, ghm, AmR> Vmg Aer doi
¶m§Zm gmYZm§X²dmao gamd H$am¶Mm hmoVm. ¶mZ§Va CS>r Am{U EH$m nm¶mda C ô amhUo ¶mX²dmao Ë¶m§Mm H$maH$
g‘Ýd¶ Vnmgbm OmB©b.
darb CXmhaUmVrb {dXçmWuZr (‘wbr) ¶m .................... n[adVm©Mo CXmhaU Amho.
A) g{H«$¶ ~) JwU{deof
H$) gmVË¶/gbJ S>) I§{S>V

5) Prior to conducting any study, the proposed research must be reviewed to
determine if it meets _________ standards.
A) conceptual B) methodological
C) institutional D) ethical
H$moUVmhr Aä¶mg hmVr KoÊ¶mnydu àñVm{dV g§emoYZ ho ................... à‘mU g§~§Yr nyV©Vm H$aVo H$m
¶mMo nyZamdbmoH$Z H$aUo JaOoMo AmgVo.
A) g§H$ënZmË‘H$ ~) nÕVera
H$) g§ñWmË‘H$ S>) Z¡{VH$

6) _______ review psychological research to protect the rights and welfare of
human participants.
A) IACUC B) IRB
C) IRA D) IACUA
...................... ho ‘mZgemór¶ g§emoYZmVrb gh^mJr ‘mZdr à¶w³Vm§Mo A{YH$ma Am{U H$ë¶mUmÀ¶m
g§ajUmMm AmT>mdm KoVmV.
A) Am¶Egr¶wgr ~) Am¶Ama~r
H$) Am¶AmaE S>) Am¶Egr¶wE
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7) A bright female graduate student in psychology has been offered a job with
both ‘India Today’ and ‘Time Magazine’. The salary offers of the two
companies are basically the same, and it appears that both the working
conditions and the job responsibilities are similar. To help her decide which
job to accept, she resolves to determine whether one magazine has a better
attitude toward women than the other. She appeals to you to help her with a
hypothesis testing about these two magazines. What should she do to test
her hypothesis?

A) financial analysis B) company analysis

C) fundamental analysis D) content analysis

‘mZgemómÀ¶m EH$m hþema {dÚmWuZrg B§{S>¶mQw>S>o Am{U Q>mB©åg ‘°JoPrZ ¶m Xmohm|H$Sy>Z ZmoH$arMm àñVmd
Ambm Amho. ¶m Xmohm|Zr {Vbm Xody Ho$bobm nJma Odinmg gmaImM Amho Am{U ¶m XmoÝhr {R>H$mUmÀ¶m
H$m‘mÀ¶m pñWVr Am{U O~m~Xmè¶m XoIrb Odinmg gma»¶mM AmhoV. H$moUmMr ZmoH$ar pñdH$mam¶Mr
¶mMm {ZU©¶ KoÊ¶mgmR>r H$moUË¶m ‘m{gH$mMm ór¶m§H$S>o ~KÊ¶mMm Ñ{ï>H$moU A{YH$ Mm§Jbm Amho ho {ZYm©[aV
H$aÊ¶mMo Vr R>adVo. ¶m {df¶rÀ¶m J¥{hVH$mÀ¶m VnmgUr‘Ü¶o Vwåhr Vrbm ‘XV H$amdr Ago Vr AmdmhZ
H$arV Amho. {VZo {VMo J¥hrVH$ nS>VmiyZ nmhÊ¶mgmR>r H$m¶ H$amdo?

A) Am{W©H$ {díbofU ~) H§$nZr {díbofU

H$) ‘wb ŷV {díbofU S>) Ame¶ {díbofU

8) The population is divided into the subpopulation is called______

A) quota B) part

C) strata D) section

Ooìhm bmoH$g§»¶m Cn-g‘yhm‘Ü¶o {d^mJbr OmVo Voìhm Ë¶mg .................. åhUVmV.

A) H$moQ>m ~) ^mJ

H$) ñQ́>oQ>m S>) {d^mJ

9) ________ variables describe the characteristics of people who are surveyed.

A) Active B) Moderating

C) Intervening D) Demographic

Á¶m ì¶{³V§Mo gd}jU H$am¶Mo Amho Ë¶m§À¶m JwU{dfoeUmMo ñnîQ>rH$aU ................. n[adV©Ho$ XoVmV.

A) g{H«$¶ ~) {Z¶m‘H$

H$) ‘Ü¶ñV S>) bmoH$g§H$ënUr¶
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10) Practice effects may threaten the internal validity of_____ when the different
conditions of the independent variable are presented in the same order to all
participants.
A) factorial design B) correlational research
C) survey research D) repeated measure experiment
Ooìhm naV§Ì n[adV©H$mÀ¶m {d{^Þ pñVWr gh^mJr à¶w³Vm§Zm gma»¶mM H«$‘mZo gmXa Ho$ë¶m OmVmV Voìhm
gamdmÀ¶m à^mdm‘wio ............... À¶m Am§V[aH$ ¶Wm©WVog YmoH$m {Z‘m©U hmoÊ¶mMr e³¶Vm AgVo.
A) KQ>H$s¶ AmamIS>m ~) ghg§~§YmË‘H$ g§emoYZ
H$) gd}jU g§emoYZ S>) nwZamd¥Îm ‘mnZr à¶moJmMr

11) The _______ group pre-test post-test design is called pre-experimental design.
A) one B) two
C) multi D) factorial
................. g‘yh nyd©MmMUr CÎma MmMUr AmamIS²>¶mg nyd© à¶mo{JH$ AmamIS>m Ago åhUVmV.
A) EH$ ~) XmoZ
H$) ~hþ S>) KQ>H$s¶

12) A _______ display is particularly useful for visualizing the general features
of a data set and for detecting outliers.
A) Sky and land B) stem and leaf
C) data window D) variable window
‘m{hVr g§MmMr d¡{eï>²ço Am{U ~mø JwUm§H$m§À¶m nS>VmiUr H$[aVm§Mo Ñí¶ê$n nmhÊ¶mH$arVm ...............
àXe©Z Cn¶w³V R>aVo.
A) AmH$me Am{U O‘rZ ~) ImoS> Am{U nmZ
H$) ‘m{hVr {IS>H$s S>) n[adV©H$ {IS>H$s

13) The _____ of the mean is the standard deviation of theoretical sampling
distribution of means and is a measure of how well we have estimated the
population mean.
A) range B) average deviation
C) marginal error D) standard error
g¡Õm§{VH$ Z‘wÝ¶mÀ¶m {dVaUmÀ¶m ‘mÜ¶‘mZmMo à‘mU {dMbZ Am{U AmnU g‘yhmMo ‘Ü¶‘mZmMm {H$Vr
AMyH$nUo A§XmO bmdbm Amho ¶mMo ‘mnZ åhUOo .................... hmo¶.
A) {dñVma ~) gamgar {dMbZ
H$) gr‘mÝV à‘mX S>) à‘mU à‘mX
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14) In two-way ANOVA the total sum of square is __________ than between
sum of.square.
A) lower
B) larger
C) equal
D) sometimes larger or sometimes lower
X²{d-‘mJu¶ àMaU {díbofUm‘Ü¶o dJmªMr EHy$U ~oarO hr dJmªÀ¶m Xaå¶mZÀ¶m ~oaOonojm ..............
AgVo.
A) H$‘r ~) A{YH$
H$) gmaIr S>) H$Yr H$Yr A{YH$ qH$dm H$Yr H$Yr H$‘r

15) If Nana has -2 standard score and Anna has -3 standard score then who is
closer to the mean in normal distribution?
A) Nana
B) Anna
C) Both
D) Sometimes Nana sometimes Anna
Oa ZmZm Mm à‘mU JwUm§H$ XmoZ Amho Am{U AmÊUmMm à‘mU JwUm§H$ VrZ Amho Va gm‘mÝ¶ {dVaUmÀ¶m
‘Ü¶‘mZmÀ¶m H$moU Odi Agob?
A) ZmZm ~) AmÊUm
H$) XmoKohr S>) H$mhrdoi ZmZm H$mhr doi AmÊUm

16) _________ rank test is non-parametric test
A) Student t B) Wilcoxan
C) Pearson D) Fisher
................ XOm© (loUr, ñWmZ) MmMUr hr A-An[a{‘Vr MmMUr Amho.
A) ñQw>S>§Q> Q>r ~) {dbH$m°³gZ
H$) {n¶agZ S>) {’$ea

17) In biserial correlation U means ____________.
A) Mann B) Whitney
C) x axis D) ordinates
X²{dAZwH«${‘H$ ghg§~§Ym‘Ü¶o U ¶mMm AW© ............... hm hmo¶.
A) ‘°Z ~) pìhQ>Zo
H$) E³g Aj S>) g‘Ýd¶
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18) The influence of three different variables with two levels each on DV is
analysed through ________ ANOVA.

A) one-way B) two-way

C) three-way D) four-way

àË¶oH$s XmoZ nmVù¶m AgUmè¶m VrZ {d{^Þ n[adV©H$m§Mm A{lV n[adË¶m©darb à^mdmMo {díbofU ho
............... àMaU {díbofUmX²dmao Ho$bo OmVo.

A) EH$ - ‘mJu¶ ~) X²{d - ‘mJu¶

H$) VrZ - ‘mJu¶ S>) Mma - ‘mJu¶

19) What will be probability for red heart queen in playing cards?

A) 1.015 B) .137

C) .019 D) 1.137

nÎ¶mÀ¶m IoimÀ¶m nmZm§‘Yrb bmb öXçmÀ¶m amUr ¶oÊ¶mMr g§̂ mì¶Vm {H$Vr AgVo?

A) 1.015 ~) .137

H$) .019 S>) 1.137

20) If a researcher wants to administer personality inventory on HIV patients he
has to follow ________ sampling methods.

A) random B) stratified

C) quota D) purposive

Oa EImX²¶m g§emoYH$mg EMAm¶ìhr ê$½Umda ì¶{³V‘Ëd emo{YHo$Mo àemgZ H$am¶Mo Agob Va Ë¶mZo
.............. Z‘wZm nÕVrMm dma H$amdm.

A) ¶mÑpÀN>H$ ~) ñVar¶

H$) H$moQ>m S>) hoVwnyd©H$

21) ________ scales are used to access people’s preferences or attitude.

A) Personality B) Rating

C) Self-report D) Self-concept

ì¶³VrMo àmYmÝ¶H«$‘ qH$dm A{^d¥Îmr g‘OyZ KoÊ¶mH$[aVm ............... loUrMm dmna Ho$bm OmVmo.

A) ì¶{³V‘Ëd ~) loUr

H$) ñd: {ZdoXZ S>) ñd g§H$ënZm
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22) ______group design is a good alternative when neither the random group
design nor the repeated measures design can be used effective.
A) Matched B) Factorial
C) Block D) Mixed
Ooìhm Zm ¶mÑpÀN>H$ g‘yh AmamIS>m Zm nwZamd¥Îm ‘mnUr AmamIS>m à^mdr R>ê$ eH$V Zmhr Voìhm ...............
g‘yh AmamIS>m hm CÎm‘ n¶m©¶ R>ê$ eH$Vmo.
A) AZwê$n ~) KQ>H$s¶
H$) ãbm°H$ (JQ>) S>) {‘l

23) ______ statistics are important in data analysis because researchers need a
way to decide whether the obtained differences in an experiment are due to
chance.
A) Correlational B) Fundamental
C) Inferential D) Complex
‘m{hVr {díbofUm Xaå¶mZ à¶moJm‘Yrb àmá ôX hm Ho$di ¶moJm¶moJmZo àmá Pmbm Amho H$m, ho Ooìhm
g§emoYH$mg R>adm¶Mo AgVo Voìhm ................ gm§p»¶H$s ‘hÎdmMr R>aVo.
A) ghg§~§YmË‘H$ ~) ‘yb ŷV
H$) AZw‘mZmË‘H$ S>) g§H$sU©

24) ABBA counter balancing design can be used to balance ______effects.
A) Internal B) external
C) individual D) practice
..................... à^mdmMm g‘Vmob gmYÊ¶mH$[aVm E~r~rE (ABBA) à{Vg§Vw{bV AmamIS²>¶mMm/
(A{^H$ën) dmna Ho$bm OmVmo.
A) A§VJ©V ~) ~mø
H$) ì¶{³VJV S>) gamdm‘Yrb

25) An _________ effect between independent variables occurs when the effect
on one independent variable differs depending on the levels of the second
independence variable.
A) Silent B) observer
C) interaction D) treatment
Ooìhm EH$m ñdV§Ì n[adV©H$mMm à^md Xþgè¶m ñdV§Ì n[adË¶m©À¶m nmVirZwgma ~XbVmo Voìhm ñdV§Ì
n[adË¶m©Xaå¶mZ ................... à^md KS>Vmo.
A) em§V ~) {ZarjH$
H$) Am§Va{H«$¶mË‘H$ S>) CnMma
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26) Threats to internal validity can be controlled by _________ experiments.

A) true B) quasi

C) field D) all above

................... à¶moJX²dmao A§VJ©V ¶WmW©WoMo YmoHo$ {Z¶§{ÌV H$aVm ¶oVmV.

A) Iè¶m ~) ³dmgr

H$) joÌ S>) darb gd©

27) In normal distribution, If Z value is -2 then P will be _________

A) 1 B) 2

C) 3 D) 4

gm‘mÝ¶ {dVaUm‘Ü¶o Oa PoS> (Z) Mo ‘yë¶ ho dOm XmoZ (–2) Agob Va nr (P) Mo ‘yë¶ ho .............
Agob.

A) EH$ ~) XmoZ

H$) VrZ S>) Mma

28) The ________ is an example of attribute variable ________.

A) instructions B) amount of reinforcement

C) teaching D) caste

ho JwU{deof n[adV©H$mMo CXmhaU Amho.

A) gyMZm ~) à~bZmMo à‘mU

H$) AÜ¶mnZ S>) OmV

29) In which investigation IV is not manipulated by an experimenter?

A) Laboratory experiments

B) Field experiments

C) Ex post facto studies

D) Field and Laboratory studies

H$moUË¶m AÝdofUm‘Ü¶o à¶moJH$Vm© ñdV§Ì n[adË¶m©‘Ü¶o ~Xb H$arV Zmhr?

A) à¶moJembo¶ à¶moJ ~) joÌ à¶moJ

H$) KQ>ZmníMmV Aä¶mg S>) joÌ Am{U à¶moJembo¶ Aä¶mg
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30) A 9th class Deepika and 10th class Catharina scored respectively 65 and 70
on self- esteem scale. The mean value for both class is 60 but the SD are
respectively 10 and 20 then Z value of Deepika is __________ Catharina.

A) greater than

B) less than

C) sometimes greater or sometimes less than

D) equal with

Zdì¶m B¶Îmo‘Yrb Xr{nH$m Am{U Xhmì¶m B¶Îmo‘Yrb H°$WarZm ¶m§Zr ñd:AmXa loUrda AZwH«$‘o 65 Am{U
70 JwU àmá Ho$bo. XmoÝhr dJm©Mo ‘Ü¶‘mZ ho 60 Amho VWm{n à‘mU {dMbZ JwUm§H$ hm AZwH«$‘o 10 Am{U
20 BVH$m Amho Ago AgVm Xr{nH$mMm PoS> (Z) JwUm§H$ hm H°$W[aZmÀ¶m VwbZoV .............. Agob.

A) OmñV (A{YH$) Agob

~) H$‘r Agob

H$) H$mhr doim A{YH$ qH$dm H$mhr doim H$‘r Agob

S>) g‘mZ qH$dm gmaIm

31) ___________ is used for exercising necessary statistical control over the
variable that have been left uncontrolled.

A) Correlation B) ANCOVA

C) ANOVA D) Chi-square

Oo n[adV©H$ {Z¶§{ÌV H$am¶Mo amhÿZ Jobo AmhoV Ë¶m n[adV©H$m§da {Z¶§ÌU àñWm{nV H$aÊ¶mH$[aVm ...............
Mm dmna Ho$bm OmVmo.

A) ghg§~§Y ~) gh àMaU {díbofU

H$) àMaU {díbofU S>) H$m¶ ñ³doAa

32) ___________ and colleagues have developed state hope scale.

A) Lopez B) Aspinwall

C) Snyderi D) Frankl

.................... Am{U ghH$mè¶m§Zr pñWVr Amem ‘mnUr {dH${gV Ho$br.

A) bmonoP ~) EpñnZdm°b

H$) ñZm¶S>a S>) ’«±$H$b
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33) An average I.Q. of one group is 100 and S.D. is 10. If Pradeep has a 110
I.Q., then his Z score will be

A) +1 B) –1

C) –.1 D) +.1

$EH$m JQ>mMm gamgar I.Q. 100 Am{U S.D. 10. Amho. Oa àXrnMm I.Q. 110 Agob Va Ë¶mMm PoS>
JwUm§H$ .......... Agob

A) +1 ~) –1

H$) –.1 S>) +.1

34) ________ has suggested that self-efficacy can influence positive physical
health.

A) Snyder B) Lewis

C) Maddux D) Bandura

ñd- gj‘Vm gH$mamË‘H$ emar[aH$ Amamo½¶mda n[aUm‘ H$ê$ eH$Vo ........... Zo Ago gwMdbo Amho.

A) ñZmBS>a ~) bwB©g

H$) ‘°Sy>³g S>) ~§Sw>am

35) The main objective of graphic presentation is to __________ data.

A) Clarify B) Collect

C) Select D) Analyse

AmboImË‘H$ gmXarH$aUmMm ‘w»¶ CÔoe àXÎm ............. Amho.

A) ñnï> H$aÊ¶mMm ~) Jmoim H$aÊ¶mMm

H$) {ZdS>Ê¶mMm S>) {díbofU H$aÊ¶mMm

36) ___________ research aims at finding a solution for an immediate problem
facing a society.

A) Fundamental B) Applied

C) Descriptive D) Theoretic

................ g§emoYZmMm CÔoe g‘mOmbm ôS>gmdUmè¶m VmËH$mi g‘ñ¶oda Cnm¶ emoYUo Amho.

A) ‘yb ŷV ~) Cn¶mo{OV

H$) dU©ZmË‘H$ S>) g¡Õm§{VH$
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37) In factorial design A × B signifies ____________

A) Simple B) Complex

C) Interactional D) Main

KQ>H$s¶ AmamIS>çm‘Ü¶o A × ~ åhUOo .............. n[aUm‘ hmo¶.

A) gmYm ~) g§{H$U©

H$) Am§Va{H«$¶mË‘H$ S>) ‘w»¶

38) A woman feels more __________ to have a baby born at home.
A) curious B) confidant
C) silent D) neutral
KarM ~mimbm OÝ‘ XoVm ¶oÊ¶m‘wio {ñÌ¶m§Zm A{YH$ ........... dmQ>Vo.
A) CËgwH$Vm ~) AmË‘{dídmgnyU©
H$) em§V S>) VQ>ñW

39) Regression analysis is used when r values are ___________.
A) significant B) not significant
C) positive D) negative
Ooìhm Ama ‘yë¶o .............. AgVmV, V|ìhm à{VJ‘Z {díbofU dmnabo OmVo.
A) bjUr¶ ~) AbjUr¶
H$) gH$mamË‘H$ S>) ZH$mamË‘H$

40) In calculating t for a single sample, the df will be __________
A) N+2 B) N+1
C) N–1 D) N–2
EH$b Z‘wZm Q>r MmMUr JUZ H$aVmZm ‘w³Vr à‘mUg§»¶m .............. Agob.
A) EZ + 2 ~) EZ + 1
H$) EZ – 1 S>) EZ – 2

41) Locus of Control term has developed by ____________.
A) Deci B) Jung
C) Binet D) Rotter
{Z¶§ÌU H|$Ð hr g§km .................. Zo {dH${gV Ho$br Amho.
A) S>ogr ~) ¶§wJ
H$) {~Zo S>) am°Q>a
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42) ___________ has developed theory of self-determination.
A) Binet B) Jung
C) Cattell D) Deci
ñd-{ZYm©aUmMm {gÕm§V ............... ¶m§Zr {dH${gV Ho$bm.
A) {~Zo ~) ¶§wJ
H$) H°$Q>ob S>) S>ogr

43) Procedural memory is subtype of ____________ memory.
A) Declarative B) Semantic
C) Sensory D) Non declarative
à{H«$¶mË‘H$ ñ‘¥Vr .............. ñ‘¥VrMm CnàH$ma Amho.
A) {ZXoemË‘H$ ~) AW©na
H$) doX{ZH$ S>) A{ZXoemË‘H$

44) Erikson has identified _____________ psychological stages.
A) 5 B) 7
C) 6 D) 8
E[aH$gZZo ................. ‘mZgemñÌr¶ Q>ßno AmoiIbo.
A) 5 ~) 7
H$) 6 S>) 8

45) __________ used the present state examination to assess psychiatric cases
in women four weeks post-miscarriage.
A) Guttmann and read B) Rove and Kahn
C) Friedman and Gath D) Cattell and Jung
J ©̂nmVmÀ¶m Mma AmR>dS>çm§Z§Va ‘{hbm§Mo ‘mZ{gH$ narjU H$aÊ¶mgmR>r ............... Zo gÜ¶ pñWVrÀ¶m
narjoMm dmna Ho$bm.
A) JÅ>‘Z Am{U arS> ~) amoìh Am{U H$mZ
H$) ’«$sS>‘Z Am{U JmW S>) H°$Q>ob Am{U ¶w§J

46) Vascular disorder is a brain disorder caused by a ___________.
A) Cancer B) Heart attack
C) Stroke D) AIDS
a³Vd{hÝ¶mg§~§Yr {dH$ma hm ‘|XÿMm {dH$ma Amho Omo .................. Ûmao hmoVmo.
A) H$H©$amoJ ~) öX¶{dH$mamMm PQ>H$m
H$) ñQ́>moH$ S>) ES²>g
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47) _________ has suggested the semantic feature-comparison model.

A) Snyder and Lopez B) Bandura and Thorndike

C) Smith, Shoben and Rips D) Lewis and Tanner

................ Zo AW©na d¡{eï>ç-VwbZm à{Vê$n gwMdbo Amho.

A) ñZm¶S>a Am{U bmonoP ~) ~m§Sy>am Am{U Wm°Z©S>mB©H$

H$) pñ‘W, emo~oZ Am{U [aßg S>) bwB©g Am{U Q>°Za

48) According to Freud id works as per __________ principle.

A) Humanistic B) Reality

C) Pleasurable D) Moral

’«$mB©S>À¶m ‘Vo BX‘ ..................... VÎdmZwgma H$m¶© H$aVmo.

A) ‘mZdVmdmXr ~) dmñVd

H$) gw: IX S>) Z¡{VH$

49) Social cognitive theory was developed by __________.

A) Skinner B) Cattell

C) Bandura D) Jung

gm‘m{OH$ ~moY{ZH$ {gÕm§V .................. ¶m§Zr {dH${gV Ho$bm.

A) pñH$Za ~) H°$Q>ob

H$) ~m§Sy>am S>) ¶w§J

50) Rogersdeveloped term ___________ person.

A) id B) ego

C) fully functioning D) success

am°Og©Zo .................... ì¶³Vr hr g§H$ënZm {dH${gV Ho$br.

A) BS> ~) Ah§‘

H$) nyU©nUo H$m¶©aV S>) ¶eñdr


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